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Set out as in the example.
© 374948 + 126954

© 293895 + 206835
© 535767 + 293872
© 966574 + 359869
© 759486 + 472594
© 688659 + 21769

@ 715423 - 597464
© 604635 — 326690
© 453242196597
@ 860317 - 283718
@ 542160 - 479577
@ 937054 - 739486
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Work out

@ 13269%6
© 54706 x 3
© 29548 x12
Q161437 x5

© 47095 x8

© 135176 x 7
@ 269840 x 9
© 183501 x 11
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@® A manufacturing
company has annual
sales of £851 602 and
expenses of £164918.
How much profit is
made?

@ in ten years the
population of a
city increases from
457 485 to 537 240.
By how much has the
population increased?
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@ 39219x4
@ 73867 x 2
@ 92674 x 1
@ 24908 %7

® 61357 %9
@ 52836 x8
@ 36179x 12
@ 27485x6
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Year 6

Four Operations
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(@ Ay complstes the collation M5 + 6
She gots @ remander of 7
Explon how you know Amy s Incarrect

[ QR ——
Trrsar 3608 ot
Vo g ks of s cn b rd?

ful packs poncs ot over.

How many more pencit are needed fo make ansther.full
pock?

@ Campiet fhe missing rumbors

exe=ux(_ |
D.s:WHHz

O bos voigh 2215
Fbores ond 7 boga weigh 656 kg
How much doss ne bog weigh?

(@ There are 5 times as many pens in box A than box B
“Tom moves 76 pens from bax A fo box B
Bath boses now have the same number of pane
How many pens are i box A now?

Circle how confident you feel with four operations.
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